Questions

Q1.

N

Skm

There is a coastguard station at point A and at point B.

B is due East of A.

The distance from A to B is 12 km.
There is a rowing boat at point R.
R is on a bearing of 160° from A.
R is on a bearing of 220° from B.

There is a speedboat at point T.

T is 5 km due South of A.

Work out the shortest distance from T to R.

g

Give your answer correct to 1 decimal place.

You must show all your working.

Q2.

Diagram NOT
accurately drawn
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(Total for question = 5 marks)



A
Diagram NOT

accurately drawn

10.4cm S;"\ (30*") = 10-4+5-2

18cm | 8
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30420 = Siw Sl
5.2cm 138
x . (-}
B C R0+ = 6o.lI
ABC is a right-angled triangle.
D is a point on AB. % = Go-l — 2o
Angle ACD = 30° - 2o0.(
AD = 10.4 cm >« = 32
DB =5.2 cm
AC =18 cm
Work out the size of the angle marked x.
Give your answer correct to 1 decimal place. R
>C =~ o. | o

(Total for question = 4 marks)

Q3.

* The diagram shows the triangle PQR.

Diagram NOT

- accurately drawn
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. Z
The area of triangle POR= Acm?
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Show that x= V 24

(Total for Question is 3 marks)

Q4. The diagram shows triangle LMN.

I Diagram NOT
15.7 em accurately drawn

Mo ) (2%
Sim 136 §in (2
1S9 §1ml@ = 12.8x w136
St = 12.8x S/(36
s

- ~t .
Give your answer correct to 3 significant figures. & - St (f 2.8 x Sia (36
1559

12.8 em

Calculate the length of LN.
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(Total for Question is 5 marks)
o
o =34.5

:’S’.“’xslnq‘fo o
>C oL = |BO—136-34.5 = 9.5

St 136 °
Q5. pla :273¢-*‘\

ABC is a triangle.



-ZL'&L Sr\C = ﬂf‘("'.

Diagram NOT .
accurately drawn ._ZL- XX Xx&E-4s1-40 = |00
N = [00
(4 .2 smdfo")
X = 37.04& m
AC = 8.4m . 4
Angle ACB = 40° tosine rule
T
The area of the triangle = 100m?. '31 = 8-41 + 3704 -2 x8-axV1.04 cos4gr
Work out the length of AB. o) - 465,83
Give your answer correct to 3 significant figures. - \
You must show all your working. j =31 S
Ag = 1 L

(Total for question = 5 marks)

Q6.

Diagram NOT

gcw @ accurately drawn
8 cm

2 R

Calculate the length of PR.
Give your answer correct to 3 significant figures.

P(LI = gz«r?z—ZxKx fc_oglz[o"
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(Total for Question is 3 marks)

Q7.

Jerry wants to cover a triangular field, ABC, with fertiliser.

Diagram NOT
accurately drawn

Ar ca = J—Z_"c«. Sw

Z X 227-5 x )71 §in SOS
- 1§, §74.5826
= 1§, ¢80 o

Here are the measurements Jerry makes

Upeer EOU«\J(

angle ABC = 50° correct to the nearest degree, ¢4. ¢
BA = 225 m correct to the nearest 5 m, 2215
BC = 175 m correct to the nearest 5 m. 199.¢

Work out the upper bound for the area of the field.
You must show your working.

1§, 80 .

(Total for Question is 3 marks)

Q8.

Diagram NOT
accurately drawn

In triangle ABC,



A-rtc\ = -—l,{ X 12.24% x & S;v\?§°
AC =6cm

Angle ACB = 120°
Angle ABC = 25°

Work out the area of triangle ABC.

Give your answer correct to 1 decimal place.
You must show all your working.

(Total for question = 4 marks)

Aree= 14 = ’ZL'xr.4—x7-3$)'n(9
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_° = Y
99 $.4x7.3 > .
| o = s.‘n-'(L ) Z74.€7
ABC is an acute angled triangle. S-4x7.3
B Diagram NOT
accurately drzawn a
"2 €. 4 4.3 2254 %18 cosT4 5T
5.4cm 7.3 cm
(X
> =604l
s¢ = 1.841cm
A PYs C
The area of triangle ABC is 19 cm?.
Work out the size of angle ACB.
Give your answer correct to 3 significant figures.
45,6 o
§. 4 T84
Siq o Sin74.57
)
71.%41 3‘",‘& 2 S.4 SvaT74.57 (Total for question = 6 marks)
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Q10.



Diagram NOT
accurately drawn

q—

T A CHAE

In the diagram,

ABC, ACDand APDare right-angled triangles.
AB= 4 cm.

BC= 3 cm.
CD= 2 cm.

Work out the length of DP.

~ |
o = Ean % = 36_g7°

oS = X
2

Qeoset = X
2 cos 36.87° - x
xz=l.bo + 2s€

DP= Pa+ ar

= [-60 &+ X

DP = 4.6cw

(Total for Question is 5 marks)



